HIR -REZ) 2017/8/28 FHRE KL Beish
B4 SRR 2 M FE FHT IR T AR 3B BB Ky
B4 SRKRA B S E R R e b FLER AT K R
BRIl FHE H X R A Faz 44 ST PR R LR R s
AA | &EH iz 2fr 3fr 4 5z 6z [ 8fir
sen 7| 8278 | 200m BaTER MK (2) 24.79 (-0.8)[/MLI E#H(2) 25.30 (-0.8)[;EA ZEA(2) 25.42 (-0.8)|;E/K #EAR() 25.74 (-0.8)[ s Il FERR(1) 25.85 (-0.8)|faK Fh(1) 25.92 (-0.8)| Il BIl—(2) 26.39 (-0.8)|/MEE BAZ(2) 26.46 (-0.8)
B L ZHZE Kkt LR ZHZE ITpEE ]
s528f | 400m B’ FKRQ 56.18[E 1L BE&H1) 59.09[ K3 FEth(2) 59.37|3EA #HBkR(2) 59.68|18A JTHR(2) 1:00.79[4E FE&E(1) 1:02.70| R B BAER(1) 1:02.89 |8 ERAER(2) 1:05.17
g [EIES & I} ITpEE R Kkt %8
8216 | 800m B’ FKRQ 2:10.32 (% $EK(2) 2:11.15| A&% AEQ) 2:1547|#H BZEQ) 2:17.18| &)1l E#8(2) 2:19.94( B4 RIKQ) 22182|FFUIL—HR FEIEQ) 2:22.55|{Rk MREQ) 2:25.49
g IHoEs L ITpEE %8 A EITES S
si12sa | 11omi A BK@) 17.66 (-2.4)|AiTsR K4 (2) 17.97 (-2.4)|[EE REQ) 19.06 (-2.0)| AT [EH(2) 19.13 (-2.4)|18 =#R(2) 19.69 (-2.4) |32 #EE(Q) 2041 (-2.4)| =3B EHH2) 20.61 (-2.4)| LB (1) 20.71 (-2.4)
[EIES ITpEE #A %A &HiE Kkt BpYnEL Kkt
&R 48.85 YR8 49.09(FEILR 49.18|5k £ 49.64|/\ 5 49.88|&F1E 50.52| LR 51.87
INFE BAEN(2) BLE H£20) BRA BK@2) B BE2) JeR @EmR2) | EH2) BIE #BEQ)
8728 H | 4x100mR |ATF REH(2) BIER B A(2) EAR EK®0) EK #ERA) BIE ®&EQ2) By REQ2) BHR #RKRQ)
BIEA E—ERQ2) BIER MAK(2) BFH BEXQ AH BEH®) XE &) B %2 FH TEQ)
Al EIH(2) EE #RB1) oIl BERR(1) ®E EEOQ I E2) FA BAHHQ) \WE BEX(2)
sHosh | e HEH BAQ 1564 FEH(2) 1.53(FFH FRED) 1.53[FH @2 1.50[i%& BEAR() 1.50(AiTE H—EA2) 145 A2 145|231 EEQ) 1.45
ITpEE FILER P kLt N %A Kkt HiE
srorh | s B F—02 5.76 (+0.8)| HH EK(2) 5.47 (0.0)|# £ F(2) w511 (+2.3)| R £ Hr(1) w481 (+2.3)| % EKR(1) w4.75 (+3.0)| LB #5R(2) 473 (H.D[ELE EHRO) 471 (H1.2)[Rul 3EBRQ) 458 (+1.3)
wynEL BEILR IR R 5 INE (30! %8
sHosh | = BIER BEA(2) 1247 (+1.6)[#BX F—(2) 12.05 (+0.4) [T K#H(2) 1152 (+1.3)[#f £ 7E(2) 11.21 (+0.6)| i)l E3H2) 10.91 (+1.4)[FH)I ZErH(2) 10.89 (+1.5)|BIH ®#(2) 10.88 (0.0)| B3 SHA(2) 10.61 (+1.2)
B GR[PYDEE GR[IT0EE iR INE %A INE kE
sHosh | ma LA SN ) 11.12( IR E&Q2) 10.18| & #H(2) 8.63|4E FHK(2) 7.93|%5F EAK(Q2) 7.74|RE R&E®) 7.23|# L [E2) 712[KI8 FAEA) 7.07
ITpEE GR|H 5 IR R BpYnEE R 1] ]
P Bl BEAQ) 25.34| B3 H3}2) 2331[FAK ZEth(2) 23.15|48 FBK(Q2) 2271 | &I #HQ2) 21.89( EE H(2) 21.22| B4 HM2Q) 19.56|FF=F @ A(2) 19.47
ITpEE A e R BILER R BpYnEL BpYnEL
shorh | s (1T == 10)) 1657| AT REHQ2) 1496| & FEHR(2) 1457|BKR 185 Q2) 1399|848 F&(1) 1168| LA 22(2) 1052|i%8 BA() 1042|FRE E2 M) 948
iel=] 3= IR BpYnEE R R INE BpYnEL
8H27H | 110mH 20.37 (+0.2) 19.80 (+0.2) 19.03 (+0.2) 18.43 (+0.2) 20.67 (+0.2) 21.48 (+0.2) 21.63 (+0.2) 21.09 (+0.2)
8H27H | Lk 11.59 8.54 7.66 7.43 7.64 7.15 5.95 5.93
827H | Empk 1.40 1.40 1.55 1.25 1.25 1.30 1.43 1.25
8H27H | 400m 59.32 59.93 1:05.13 1:01.49 1:03.32 1:05.55 1:06.22 1:06.58
NG B() 12.65 (-2.6)[;FK #&EAX(1) 12.78 (-2.6)[* )1l #ERR(1) 12.84 (-26)[BL &EH01) 12.85 (-2.6) A EEAC) 12.95 (-2.6)|#K Fh(1) 12.97 (-2.6)| K@ B(1) 13.11 (-2.6)
vent | smosn | 100m ZHPE KE EILR 3] INE ZHEPE kE
FEAR EXR®1) 12.85 (-2.6)
FELR
sa270 | 1500m L2 S IO 4:26.00(E 1L EH) 4:44.08 AL K1) 4:4423|hiE #BWARA) 45042|8 EzM0) 4:53.87|Ht £(1) 45452| KR ThAEER(1) 45809 £# Z=(1) 5:02.82
ITpEE GR|#EILER R R ZHZE ITpEs IR pYnEL
sem s |smosa| 100m PaIER AR (2) 12.50 (-2.6)|BAI&R BEA(2) 12,51 (=2.6)|it)Il &rH(2) 12.55 (-2.6)[/IMlL TE#H(2) 12,69 (-2.6)[=ME BEAQ) 12.69 (-2.6)|:% )11 @ H(2) 12.72 (-2.6);E@ ZEA©2) 12.92 (-2.6)| B3 AEQ) 12.98 (-2.6)
PR 3] %A Il ITpEs INE ZHPE HiE
sh2sE | 1500m BE EAQ) 4:33.12(4EE IEth(2) 4:3354ILT F££(2) 4:37.45|FK E}(2) 4:3751|5k% R—ER2) 4:39.22 (7805 FAR(2) 44138| A% NEQ) 4:4155|FE@ EEQ) 4:43.67
IHyoEs R R &\ 5 ZEPE 31} FpEs
sh278 | 3000m 1A Eth2) 9:4463|FAR E}(2) 9:55.25|IUTT F2(2) 9:58.45|5k %7 f—AR2) 10:00.19| KH Eh(2) 10:11.49| %8 [BA(2) 10:32.02 | AiE $TARER2) 10:45.27|F A FEH(2) 10:53.02
PR %A R s INE INE = EIER
TN 25 2431 3fiL 2 ivd 54 64iL 741 8z
- B 8754|104 794 | HER 67554 |&H 668 |/\ 2 55 55 | 4aJE 365 |HS 3585 5k E 325




HIR -REZ) 2017/8/28 FHRE KL Beiss
B4 R 2OMF FE FHT HI K T AR 3B BB Ky
B4 SRKRA B S E R R e b FLER AT K R
BRIl FHE H X R A Faz 44 ST PR R LR R
AAt | &EH Y74 2hr 3hr 4 5L 6hr [ 8fir
s . e EEQ) 28.05 (-1.0)|HE UV&Y(Q2) 2846 (-1.0)|#H HFQ2) 28.74 (-1.0)| )1 3m(1) 29.14 (-1.0)| B8 HHcH©2)  29.62 (-1.0)[4AL &) 29.63 (-1.0)|EE MYAQ) 30.13 (-1.0)
il [ 8A27H | 200m
B IR iR IToER BpYOEE =3} 7
si12sa | 1500m NG BEQ) 5:09.52|3kA HEFI(1) 5:16.13|1LE FE(2) 5:18.92| B3 [5IA(2) 5:21.26 ;A Z0££(2) 5:27.05|dLE ZZA(1) 5:28.86|BER HH01) 5:35.07|dL4l #5H(2) 5:35.12
Bt iR BpYOEE ITpEE Kkt LR R S
sf128m | 100mH B 2RO 16.88 (-1.1)|EH FF#E2) 18.27 (-1.1)|BX KBH@) 18.29 (-1.1)| 48k &R (2) 18.35 (-1.1)|EA HE() 1858 (-1.1)|HE IFEHE(2) 18.67 (-1.1)| 5T #F(2) 19.06 (-1.1)|ZBR FEAQ) 20.42 (-1.1)
Kt ITEs (EES &R Gil= pYnEH [TozEs e
E3 52.14(pYDEE 53.355k £ 54.76(I1T0EE 55.34| &R 55.72|/\& 55.78| LR 56.14| 48R 56.72
WE ERA) GR(AER ZEHE(2) B33 TEFEQ) A FEEEQ) Sl FHE2) EA ERQ AF #H2) BE E50)
8H28H | 4x100mR |HE V&YQ) EAR Fn2) IR BT g R R EDE®) e =) BER AH0B) BH BEERQ)
BE BT RE KIEQ) e FEQ1) B FAEQ2) %k BE2 O REZE0) WA FR2 TH EHBQ)
M FR0) EiE SARHE2) & B&/Q) AfE FDOEQ) A BEQ) WA FIEQ2) 28 ZRA) k5 BFQ2)
ER FH(2) 1.45|8F BARRD 1.38|BH HEQ) 1.38| KiE HKRBE(2) 1.35| B3 &<x(2) 1.25 TRHE E2(2) 1.25;58 AHs@2) 1.25
shosh | e pYnEs HiE ITpEE R Kkt Bt ITpEs
Bk EOEQ) 1.25
%A
srorh | s INR BT 4.49 (+0.9)[FR FTR() 4.40 (0.0)[BME &HX=Q) 432 (0.0)|ZER EAQ) 4.23 (0.0)| &R EDE2) 417 (0.0) ;K& #H5() 4.09 (+0.5)| K& REE(2) 4.06 (+0.3)[ &)1l BXE() 4.05 (0.0)
kLt BEILR IR L= ITpEE BILER (30! ITpEs
shosh | mase £l BAETEQ) 8.60|&FH <BH(1) 161|5%H K@ 758(tM A #EQ) 7.23|hH T 1.12|HE EZNREQW) 6.99| AR BIEQ) 6.94|8F FR© 6.56
L L iR 0] %A #Hig ITpEs LR
saore | e HWa Em@) 24.42(&F <BA1) 2053(FTE #1EQ) 20.05(FE K1EQ) 19.69| &1L BAZETEQ) 19.62|EH #HIE(1) 18.37[faA BHE(2) 17.24 (@4 HBWEEQ) 15.35
kLt Ll 3] iR 1)) R &8 R
sA27H | mrEssE EKR EFSH2) 2408 AR IEE(2) 1897| &Mk 5H3R(2) 1521;EA £Z(2) 1364|FHAT REQ1) 1306|F% B53(1) 1221|BXR EEQ2 1197|851 #&/$F2 1187
pynEs BpYnEs =] =t Bt INE i) [FRsES=
8H27H | 100mH 16.12 (+1.5) 16.63 (+1.5) 18.63 (+1.5) 19.82 (+1.7) 19.97 (+1.7) 18.52 (+1.7) 24.55 (+1.5) 18.63 (+1.5)
8H27H | Empk 1.54 1.25 1.20 1.25 1.15 1.15 1.15 1.15
8H2TH | ftLf 8.78 7.03 6.98 6.15 6.47 4.11 8.18 4.68
8H27H | 200m 28.50 (-1.0) 28.90 (-1.0) 30.46 (-1.0) 31.12 (-1.0) 30.70 (-1.0) 31.77 (<0.3) 29.98 (<0.3) 32.74 (-1.0)
veser | srosa | 100m M FX®0) 13.87 (-2.9)[ )11 5E(1) 14.30 (-2.9)(lum Z=(1) 14.34 (-2.9)[/ 6k BHZ(1) 14.34 (-2.9)[HEH BLRN) 1441 (F29IKE &#H5(1) 1450 (-29)3RE FERA) 14.54 (-2.9)| & F=R®O) 14.75 (-2.9)
IR ITpEE INE kLt HiE BILER RiR IR
8278 | soom RA BEFI) 2:33.75|dLEF A1) 2:36.83|#H)1l BEBLEE(T) 2:37.18|¥15 EHQ) 2:3859|BR £H0) 2:39.10|3R A BEI() 2:39.81 ()11 £ 2:41.35
iR BILER INE I} R IHEs ITpEs
vt | sHosh | 10om HE UV&YQ) 1352 (-0.7)|tE8a £3(2) 13.82 (-0.7)(#EiE AF(Q) 13.93 (-0.7)| @ E#&(2) 14.26 (-0.7)| 1 1EFE(2) 14.35 (-0.7)|:5f [EDEQ) 1442 (-0.7)|EH EHiHQ) 14.44 (-0.7)|EH FEFEEQ2) 14.46 (-0.7)
iR 3] iR KLt Kkt ITpEs NE [FRsES
si21i | 800m NG BEQ) 2:32.45|RFE HKHE(2) 2:34.23| L8 FWE(2) 2:34.96|7 A HNEEQ2) 2:35.87|4Ll #5H(2) 2:38.98| A BE(2) 2:40.58 | A 1K{E(2) 2:40.67| K1t EHEQ) 2:48.03
Bt BpYnEs wynEL KLt INE IToEs ITpEs INE
YN 2R 231 33 441 5431 631 741 8fiz
o Rk TTR|FPEE 60m|KE 565 (WYDEE 564 | KA 33 | B BR|EL 21R|\x 2653

A AEEHICED




